Example: system response due to periodic function

Consider a 2nd order system described by the following EOM L San Andres (c) 2008
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Find Fourier Series coefficients for excitation z(t)

T

mean value ap := i z(t) dt
0= 7
0 apg = Om



j = 1..N|:

coefs of cos & sin

0
T
a =(0 00000 0)m

Build z(t) as a Fourier series
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Find the forced response of the system, i.e, find Y(t)

SYSTEM RESPONSE is:

Yn:i=an—
0 OK

m := 1..N|:

(a) set frequency ratio




(b) build denominator denp, := |:1 _ 2] 2 £

(c) build coefficient of cos()
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Now graph the response Y(t) and the excitation (Fourier) z(t):
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